


1idori g 2

1. HarHE? HRREH A .

2. R N AT R T AR IR LA, IR UL 9T A2
()3 +x=5
(2)3x +2y =7
(3)2+3=3+2
()a+b=b+a(a. bC%N)
((B)5x +7=3x-5

3. LRI F ISR AR A A0
RSN, BATAUAa = bRF—BOER
4. framMJTREmIfgE?

—a

5. fTAaM—Ju—IXKTHE?




T N AT RE R S




MMER  3X3+1=5X%X2
mtn = nt+tm
x+H2x = 3x
3x+t1 = Sy
XA A EI'J,»\?_J)E A A?
F ‘=" BREA

H
F3

HE S “="REBAHEFR
R T, ISR,




F W
W4+x=7, @) 2x, @ 3x+1,
(4) a+b=b+a, ® a2+b?2 ®) c=2nr
@ 1+2:39 %abp @ SZITah,

2x-3y>()

EREARTFH, (DOODO)RE
( @@BG®BW ) ~R-ER, Ita?




MELFRZ 1

SERTEICER) A—A % (RAT) , LR

Ri. a0 a=b P4 atc=b=xc



2891, HE SR E s g R e S5

(1) & 4x = 7x-=5 1. MEEREHAEHLE
A ZEA
Ny ”‘/ AR Yar, AR Yar,
. . T—" R /B4 AR AL AT R SR AT
(2) % 3a+4=8 O RN B
EERFS




MR 2 2

2 PE R 2

FAURFA=AE BFRUFE—AA 0 B2
ZRIIHE.
. 4k a=b 4 ac= bc
mE a=b (c#0) s 2=1°

C




2. FEAEEEl FIES S R 2 S5
REE: EMNE RS

1)3x = -9 (2) -0.5x=2(3) 2x +1‘




+ SRR 1 S AMITER2:

sRELINEH) F o FRPLTER
A (T PR SERBAR -

—.

3/_0‘)0 ’ é:gk; /V‘_‘ro /\Z_‘jj0§&’ é:lilk;%/ﬂ_ﬁ




ﬁﬁf-%—tﬂlﬂi/ 17}2)175—,"

O 420 [ 24T 1HE S
@gggﬂﬁ) 3 (B LL) I 2 [F]
sk

©)"3 & N: [



%J» g2

%IJU?XT% B, XU B AR P S A MR — 2R M T BRI
v AT A , g
(I Rx=y, 4 x - 2=y+2 (X))

3
Q) R x=y,Ff 4 x+5-a=y+5-a (+ )




il 1 a.%

Iﬁ'ﬁuﬁfgff

MRYE ST

W

= A B
, U R AR 4 5 EEEI’J R —

SRS, ERTR4E R
KVE

AR (B2 I T TR El@o
@ WHE2x=5-3x, W4L2x+ . ) =5
@. H0.2x =10,

fid: O+ 2x+ ( 3x

@. x=( 50 )

AR 9 S T

=)

Max= ( )
) =5

i1, FABILEI L 3x.

)l'r

12, &3

(P ARER LA 0.2 B3R EL 5.



2 B

2_ 3 @—‘ A
4 E) ~ I\AH(J‘I’:A

- )i

B x—2 1
:3 ’ Elj X —

@ = —4 x = 3, RIE_&K

e~ -
s - 3

Pt LA — o —IX J5FERL 2 A

e EEN Nx=a(EE) W

Wiohey

J

4=t}



{5112 Fil i 25 3R A A T 5100

1)x+7=26; (2)-5x=20;
3)-ix-5=4.
(

fiE:C 1) PNILRT, Bx+7-T7T=26-7
T e x=19
(2) FHAFRKU—5, & —_5—536:3—5
TR x=—4
(3) Fiams, B  —lx-5+5=4+5
e, 19 —1x=9

Wﬁﬂlﬁlﬁ— 3, ?ﬂa‘ X = _27



ann] A 56 ?

¥ x = 2N —Lx—5#din, &
=A==
=95
=4

HRRI AT, iy =272
BRI

“ZE‘E::: . gir?}\ﬁj‘j‘%% o




$13: T REERT AN 2 ISR, AR 2
MNERMEDIE? #: x+12=34

(NFETTFE: x+12=34 x+12 -13:;3;1 12
fiff:x+12=34=x+12 -12=34 -17=%=22

(2)fF )T F2: -9x+3=6

fi#:-9x+3-3=6-3

T/ Ox=3 .

BTl x=-3 x=—§




252: A% UHA e L

A.

B
C.
D

SRS (D)

§=O’ B3 x=2 x=0
§=3’ 132 x = x=9
y 2 3
—2a=—3, 5¥la== a=—
3
x—1=4, ??F?IJXZS




2)3: MAEFEAERE N TR,
X-J3 =06 (2) 0.3x =45




/j\ .

« SFRTER: FARLIN (BdED [F

ﬂ/\éﬁl (BT

25 RATFHSE o

ﬁ[l%a=b, MWL at+tcec=btc
SFAHIER2: S AeF— 4L,
jZF{TUI_J*/\Tjj 0 [T, 25 RS,

MmE a=b, ¥
MmE a=b, ¥

S ac=bc

17/ (c#0)

3. fE— T —IRJ7 R R SE st S5 20
,.

P R ok H R 8 {E x=a ()






